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Solve at least two. Show your work.

492 + 365 = s

963 — 212 =

824 - 603 = N 489 + 683 =

Use mental math to find as many products as you can in one minute.

0 Ix4= Q@ 0x4= |
@ 6x4= @ 8x4= ‘
©@ 2x4= @ 13x4=

@ 9Ix4= Q@ !x4= |
@ 7x4= 12x4= |

Use mental math to find as many quotients as you can in one minute.

@ 3:3=___ ® 18:3=___
@ 6+3=___ @ 21+3=___
©® 9+3=___ Q@ 24+3=____
@ 12+3=___ @ 27+3=___
@ 15+3=___ ® 30+3=___ |



In what place is each underlined.'(‘iigit?

6,778,754 9,869,010

5,021,659 2,272,658

Complete the tabie with the correct number forms.

Word Form Standard Form EXP anded Form
(1) two thousand, nine hundred sixty-two
(1) 2,000 +900+80+3
(1) 4,099
(1) 8,000 + 700 + 50 + 3
(1) Thomas needs his farm to grow 930 | (5) Jonathan read the first 523 pages of

pumpkins this year. He also expects a book. There are 502 pages left to

to raise 18 cows. So far it has grown read. How many pages does the

282 pumpkins. How many more does book have?

Thomas need to grow?

Answer: pages

Answer: pumpkins




